
Formeln zur Berechnung des Freien Standpunktes 
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Gegeben: y₁ , x₁ Berechnen:  t₁² ; e₁,₂ 

  

 

y₂ , x₂ 

    

      

 

y´N = 0,000 x´N = 0,000 

   

 

y´1 = 0,000 x´1 = e´ N,1 

   

      

 

t´N² = β 
P → R 

y´₂ = e´N,2  •  sin t´N² 

 

 

e´N,2 x´₂ = e´N,2  •  cos t´N² 

 

      

 

y´₂ - y´₁ 
R → P 

t´₁² 

  

 

x´₂ - x´₁ e´1,2 

  

      

 

q= e1,2 / e´1,2 

 

α= 200 - t´₁² 

  

      

 

t₁² + α 
P → R 

Δy = q • e´N,1  • sin ( t₁² + α ) 

 

 

e´N,1  •  q Δx = q • e´N,1  • cos ( t₁² + α ) 

 

      

 

yN = y₁ + Δy 

    

 

xN = x₁ + Δx 

    

      

 

Formeln gelten auch für Brechungswinkel β > 200 gon 

 


